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1 public class CircileUtilitesApplication {

2 public static void main(String[] args) {

3 System.out.println("Initial radius of CU: " + CircleUtilities.radius);
4 int d1 = CircleUtilities.getDiameter();

5 System.out.println("dl is: " + dl);

6 System.out.println("cl is: " + CircleUtilities.getCircumferencel());
7 System.out.println("======");

8 System.out.println("d2 is: " + CircleUtilities.getDiameter(20));

9 System.out.println("c2 is: " + CircleUtilities.getCircumference(20));
10 System.out.println("======");

11 System.out.println("Change the radius of CU to 30...");

12 CircleUtilities.setRadius(30);

13 System.out.println("======");

14 dl = CircleUtilities.getDiameter();

15 System.out.println("dl is: " + dl);

16 System.out.println("cl is: " + CircleUtilities.getCircumferencel());
17 System.out.println("======");

18 System.out.println("d2 is: " + CircleUtilities.getDiameter(20));

19 System.out.println("c2 is: " + CircleUtilities.getCircumference(20));
20 }
21}
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public class CircleUtilities {

zz(i]:c;(t:eirs‘:a;z;i:isn:@t RADIUS_TO_DIAMETER = 2; N]—E ( CJ Y&‘d((/l3>
public static final 1t PI =@ (/,'t d [\U d_@t(pa( ) 3

static int getDiameter() {

R i % gl (o) 9o

statlc int @nt r (’/]-f[ C 0_) lb (\((7(\> éﬁ
return caeiss *-RADIUS_ TO IAMETER 7

statlc vmd@ws(mt newRadius) { (P/zn-t 1‘/1 C [\O P&VA >¥O

) radius = newRadius; . _Ij[‘/l CZ\LQ 29 ¥ 2 g

public static int getCIr'cu ference(int radius) { {‘/\ eEZ\T/(}O)
return (getDiam&tér(rdadidis) * PI; ( — /5'0

} SO v—)

public static int getCircumferencel() { /7 [] ?O—)( ZX ;
return getDiameter() *(PI; T 4 |

} BLD 2

private static int getCircumference2() { =
return getCircumference(radius); 71 3
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